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const int MAXN=5e4+5;
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int blk sz,alMAXN]|,col[MAXN];
struct query
int 1,r,idx;
bool operator < (const query &b)const
1/blk sz!=b.l/blk sz 1<b.1;
r<b.r;

g/ MAXN] ;
LL ans1/MAXN|,ans2 MAXN|, cur;
LL gcd(LL a,LL b
b
LL t=b;
b=a%b;
a=t;

a,

void add(int v
cur+=col|v];
col|v]++;

void del(int v
collv]--;
cur-=col|v];

int main

int n=read int(),m=read int();

blk sz=1.0*n/sqrt(m)+1;

_rep(i,1,n

alil=read int();

_for(i,0,m

q/il.l=read int(),qlil.r=read int(),qli].1idx=1;

sort(q,q+m);

int lef=1,rig=0;

_for(i,0,m
glil.l==qli].r
ansl[qli].idx ;
ans2[qli].idx ;

’

lef>qlil.l)add(al--lef]);
rig<qlil.r)add(al++rig|);
lef<qli!.l)del(allef++]);
rig>qlil.r)del(alrig--1);

ansliqli].idx|=cur;
ans2(qli].idx]=1LL*(q[i].r-qli].+1)*(qli].r-qli].1)/2;

_for(i,0,m
ansl[i]==
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ans2[il=1;
LL g=gcd(anslii|,ans2[i!);
ansl(i|/=g;

ans2[il/=g;

printf("%slld/%slld\n",ansl[i],ans2[1i]);
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struct query
int 1,r,idx;
bool operator < (const query &b)const
1/blk sz!=b.l/blk sz 1<b.1;
1/blk sz)&1)7?(r<b.r):(r=>b.r);
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const int MAXN=1.5e5,MAXC=1e6+5;
int blk sz,a/MAXN|,col/MAXC!,cur_ans;
struct query

int 1,r,t,1idx;

bool operator < (const query &b)const

1/blk sz!=b.l/blk sz 1<b.1;
r/blk sz!=b.r/blk sz 1/blk sz)&1)?(r<b.r):(r>b.r);
r/blk sz)&1)?(t<b.t):(t>b.t);
q/MAXN|;
struct opt
int pos,pre,now;
p/MAXN];

int ans[MAXN!,q cnt,p _cnt,lef=1,rig=0;
void add(int c
lcollcl)cur _ans++;
col/cl++;

void del(int c
col[c]--;
lcollc|)cur _ans--;

void update(opt &p
lef<=p.pos&&p.pos<=rig
del(p.now) ;
add(p.pre);

alp.posl=p.pre;
swap(p.pre,p.now) ;

int main
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int n=read int(),m=read int
blk sz=pow(n,2.0/3);
_rep(i,1,n
alil=read int();
_for(i,0,m
char c=get char();
c=="'Q’

glg cnt].l=read int(),qlq cnt]|.r=read int

_cnt;
q cnt++;

int pos=read int(),v=read int

.
’

,qlg _cnt].t=p cnt,qlq cnt].idx=q

;++p_cnt;

p/p_cnt!.pos=pos,plp cnt]|.pre=a/pos|,pip _cnt|.now=v,a pos|=v;

sort(q,g+q _cnt);
int tim=p_cnt;
_for(i,0,q cnt

lef>q/il.l)add(a
rig<q/i/.rj)add(a
lef<qli].l)del(a
rig=qlil.r)del(a
tim<qli].t
tim>qli

ans|[q/il.idx|=cur_ans;

_for(i,0,q cnt
enter(ans[i]);
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